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PART - | / 9T - |
REASONING ABILITY / T &9l

1.  Given below is a question followed by two
statements numbered (1) and (II), each
containing some information. Decide which
of the statement(s), is/are sufficient to answer
the question.

(I

(1)

)

3)

4)

Who among M, N, O, P, Q and R, each
having different weight is the heaviest ?

‘N’ is heavier than ‘M’ but lighter than
I'Ql.

Only two of them are lighter than ‘O’".

The statement (I) alone is sufficient to
answer the question while statement (II)
alone is not sufficient.

The statement (II) alone is sufficient to
answer the question while statement (I)
alone is not sufficient.

Both statements (I) and (II) together are
necessary to answer the question.

Both statements (I) and (II) together are
not sufficient to answer the question.

2E
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Given below is a question followed by two
statements numbered (I) and (II), each
containing some 111formalmn Decide which
of the statement(s), 1-;/ ure sufficient to answer
the question ? [ : )

£
How many studcnls are sitting in the row ?
(I) Amit who is ‘swenlh from the left end
is ninth to the left of Rekha who is
fifteenth from’ lhe right end.

(II) Naresh is seventh to the left of Shashi
who is eleventh from the right end and
twentieth from the left end.

(1) The statement (I) alone is sufficient to
answer the question while statement (II)
alone is not sufficient.

(2) The statement (II) alone is sufficient to
answer the queshon while statement (I)
alone is not suff1c1ent

(3) Both statements (I) and (II) together are
necessary to answer the question.

(4) Either statement !I) alone or statement
(II) alone is gg__ftz_icxent to answer the
question. -

=z}

Two statements are given below and they are
labelled as Assertion (A) and Reason (R).
Assertion (A) : River Narmada flows
eastward.

Reason (R) : Narmada river drains into the

-

* Arabian sea. T

Select correct ans“{enwnh the help of code.

(1) Both (A) and- (R) are true and (R) is
correct explanahon of (A)

(2) Both(A) and\_-l}) are true and (R) is not
the correct explanation of (A)

(3) (A) is true but(R) is false

(4) (A) is false but (R) is true

oy
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Pointing to a boy, Privanka said, “He is my | 4.
husband’s only daughter’s father's father-in- |

law’s son’s son”. How the father of the boy
related to Priyanka ?

(1) Father

(2) Brother-in-law

(3) Brother

(4) Cousin

Two statements are given below and these

are labelled as Assertion (A) and Reason (R).

Assertion (A) : The life span of population

has increased in India since independence.

Reason (R) : The medical field has advanced

and now have prevention and cure for

diseases like Smallpox, Malaria that

accounted for high percentage of deaths

earlier.

Select correct answer with the help of code.

(1) Both (A) and (R) are true and (R) is
correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A) is false but (R) is true

Seven athletes reached final lap of a race,
each at a different time. Ravi is immediately
behind Pramod but immediately ahead of
Suresh. Alok is immediately ahead of Naresh,
who is immediately ahead of Pramod. Gaurav
is immediately behind Lalit, who is second
from the last. Lalit is immediately behind

Suresh.
Who is at the third position from the front ?
(1) Alok
(2) Pramod
(3) Gaurav
(4) Naresh
ACC-2023 53
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Select the letter cluster that can replace the | 7.
question mark (?) in the following series, |

ZBKI, XDHM, VFEQ, THBU, ? , PLVC
(1) JRYY
(2) RIXY
A5)  RIYY
@) RJYX

D, E F, G, ], Kand L are sitting around a | 8.
round table facing towards the centre, but
not necessarily in the same order. ‘J’ is the
immediate neighbour of ‘L’ and ‘F’. ‘G’ is
neither an immediate neighbour of ‘F’ nor ‘E'.
‘K’, who is second to the left of ‘G’ has ‘D’
and ‘E’ as immediate neighbours.

Who is sitting to the immediate right of ‘G’ ?

1) ]

= fL
2) F

@ D g

(4 L K £

Seven friends ], K, L, M, P, Q and R are sitting | 9.
in a row facing East. ‘K’ is sitting between
‘Q and ‘J'. ‘R’ is to the immediate left of ‘M".
Two friends are sitting between ‘J* and ‘M.
‘L’ is to the immediate right of °J'. Two friends
are sitting between ‘K’ and ‘P

Who is sitting between ‘M’ and ‘K’ ?

1 J
(2 L
@) Q
4 R
i@
ACC-2023 &%& 5
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10.  Savita starts walking from Mall and walks
10 m towards East and then turns right and
walks 90 m. Then she turns left and walks
40 m. After that she again tums left and goes
70 m. She finally turns left and walks 50 m
and reaches her home. How far and in which
direction is her home from the Mall ?

(1) 10 m, North
(2) 20 m, North
(3) 20 m, South

(4) 30 m, West

11. Study the given diagram carefully and
answer the question. The numbers in
different sections indicate the number of

persons.
Authors
20 Females
10\ B |18
8
16 L
Doctors

How many male Doctors are Authors ?
(1) 16

(2) 20

@ 8

@) 10

o)
ACC-2023 6%5 6
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‘] + K’ means '] is the brother of K,
‘] = K’ means ‘] is the daughter of K,
‘] X K’ means ‘] is the father of K’,

If, V+K=HxW’, how is ‘V’ related to ‘W’ ?

(1) Father
(2
(3)

(4)

Uncle
Brother

Sister

13. Select the number that will replace the
question mark (?) in the following series.

20, 21, 42, 45, 180, _2_, 1110
(1)
(2)
(3)
(4) 900

185
186
365

14, In an office, Kavita’'s seat is to the South of
Chhaya’s seat. Priya’s seat is to the East of
Chhaya’s seat, Mrinal’s seat is to the North
of Priya’s seat. If the distance of Mrinal’s seat
from Priya’s seat is equal to the distance of
Chhaya'’s seat from Kavita’s seat, in which
direction is Mrinal’s seat with respect to
Chhaya’s seat ?

(1)
(2)
(3)
(4) West

ACC-2023 %g

North-East
South-East
South-West
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15. In the following question, a relationship
between different elements is shown in the
statement followed by two conclusions (1) and
(IT). Assuming the statement to be true, decide
which of the conclusions is/are definitely
true ?

Statement : K=2X<Y=<Z=N<P
Conclusions: (I) N<X

(I X<P
(1) Only conclusion (I) is true
(2) Only conclusion (II) is true
(3) Both conclusions (I) and (II) are true
(4) Neither conclusion (I) nor conclusion

(II) is true

16. Three statements, showing relationship
between different elements, are followed by
three conclusions (I), (II) and (III). Assuming
the statements to be true, decide which of the
conclusions is/are definitely true ?
Statements : (1) P<G

) BR>H
3) G=R
Conclusions : () T<G
(I P>G
(II) R>P
(1) Only (I) and (II) are true
(2) Only (II) and (III) are true
(3) Only (I) and (III) are true
(4) Allare true
EI%'E]
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17. Select the Venn diagram that best represents | 17, 30 A7 antm F1 ot K st Frefafenr wml
the relationship between the following set of ¥ Wy ¥ A wers A wtm afttv a4 Frefr
classes. . F@a

Solar system, Jupitet, Universe Hr uftam, gemfa, wrms

(1) : (1)

o

\y
i,

l LU TR TR TR TLOAT Y
u ol s
ol WL T

260!

s

26E
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A statement is followed by two Assumptions
numbered (1) and (I1). Consider the statement
and assumptions and decide which of the
given assumptions is/are implicit in the
statement.

Statement :

The literacy rate in PQR town is abysmally
low due to lack of schools and trained
teachers.

Assumptions :

() No body in the town is educated.

(I) Due to lack of education, the citizens
are poor in this town.

(1) Only Assumption (I) is implicit

(2) Only Assumption (II) is implicit

(3) Both Assumptions (I) and (II) are
implicit

(4) Neither Assumption (I) nor (II) is
implicit

ACC-2023 % 10
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19. Two statements have been given followed by | 19. A word & v A frond (N e fanom X

two conclusions (1) and (11). Assuming the
statements to be true, even if they seem to be
at variance from commonly known facts,
decide which of the given conclusions
logically follow(s) from the given statements.

Statements :

(1) Some books are pencils.

(2) Some pencils are erasers.
Conclusions :

(I) Some erasers are books.

(I) No book is eraser.

(1) Only conclusion (I) follows
(2) Only conclusion (II) follows

(3) Both conclusions (I) and (II) follow

(4) Either conclusion (I) or (II) follows

20. Each of six teachers M, N, P, Q, S and T have
their classes on six different days of a week
starting from Monday and ending on
Saturday of the same week, but not
necessarily in the same order. Only two
teachers have classes before N’s class. ‘S” has
the class on Tuesday and ‘Q’ has the class on
Saturday. Only one teacher has the class after
the class of ‘M’. P's class is not between the
classes of ‘M’ and ‘N’. Who among the

following has the class on Monday ?

1 M
2 N
@ P
4 T

=

10
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QUANTITATIVE APTITUDE/ HTATH® m
21. AHmmvbmmMSNquwﬂnn!\lk«mliﬂ. wfierr 3 2x # o A el e 20

20% of pencils at 25% loss, one third at 20%
profit and the remaining at 25% profit. If the
total profit earned by him on selling all the
pencils is T 248, then find the value of X

(in 3).

(1) 1450
(2) 1680
(3) 1750
(4) 1860

22. The following chart gives the expenditure
incurred by a publisher to bring out a book.

Find the percentage of the total expenditure
incurred for printing.

(1) 20%
2) 25%
3) 30%
4) 35%

EEE
ACC-2023 E%%
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SIS

1) 20%
2) 25%
A3 30%

4) 35%
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. XX N
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@ 6 - s LT F 1
o b
) 7.59% A 7.59% £ aj; mq
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The value of

Ax003 i 036X002 %04 0MIx08
_ _ O
00 o

(1)
)
@)
(4)

02x 03 |
1.36
0.138
0.121

0.57

A certain amount of money at simple interest
amounts to T 1,404 in 2 years and to
T 1,560 in 5 years. What is the rate of simple
interest per annum ?

@
@
(3)
(4)

3%
4%
5%

6%

¥ 27,600 is distributed among Thomas, David

th
and Vijay in such a manner that 7 of the

rd

share of Thomas, % of the share of David

1
and 3 of the share of Vijay are equal. Find

the sum of the share of Thomas and Vijay.
@)
@
®)
@

18,720
15,200

16,700

20,700

14
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25. no - -(:]2)(01 -l)-HH .
Ak ch &

Ly

YXIf | 3% reppe
: _ y SIRIN .
(1) 1.36 Md}é Isatenrnd g
2y 0138 Ly yr o

lo iem T;
(3) 0.121

lotye=to 37 5,
(4) 0.57 lew for

26. WURU AN WU A afa 2 99 5 7 1,40
35 ad 921,560 31 St 21 oET =TE S
iffs A E?

Sls  S2
§—Uls t\qﬁq L)
(1) 3% , T3¢ H°
gAS(‘iU‘:’
4% ="
A2 g P- i3
_ =16/
3) g1 =52 _'E.;}::(‘lp
B
@) 6%

27. T 27,600 T 4H, Sas iR o s 99 =
mﬁﬁﬁamm%ﬁm#%ﬁrm%.
fae & fe@ = % AR fasg & fe@ =1 %
U ¥ 9Wy 3R faeg & fedi =1 9m @
HifT |

0 v The
1) 18,720 =Ll
@) T 3 Iy 430
(2) 15,200 x4
ETS ) o
(3) 16,700
A4 20,700
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28. The compound interest on a certain amount
for 2 years at 4% per annum is ¥ 1,020, if
interest is compounded annually. Find the
simple interest on that amount for 2 years at
4% per annum ?

(1) I 800 =
2) 850 ~~
3) T 950 ol
-
4) ¥ 1,000 R
‘N

29. Anju spends 16% of her monthly ip'csime on
rent, 22% of it on groceries, 14% of it on
children’s education and 60% of the
remaining on other item. If T 22,852 is left
with her at the end of the month, then what
is her monthly income (in ) ?

1 90,450 !

() o<t ‘& 4
(2) 94,600 70

(3) 98,500

(4) 99,000

=1a

30. A chemist prepared 50 grams of a=£edici11e

by mixing two ingredients ‘P* and ‘Q’. Rate
of ‘P’ is T 150 per 10 gm and that of ‘Q" is
T 500 per 100 gm. ‘P’ and ‘Q’ are mixed in
such a way that the cost of the resulting
medicine is T 12 per gm. What is the quantity
of ‘P’ (in grams) in the medicine ?

1) 15 [,
@ 20
® 2 é
@) 35 01

olo)
ACC-2023 E‘%E

28.

29.

30.

15

d)
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ww fafvere ofer o 2 ol % fao g, afa o 4
zt A wEfa w0 & afz sma anfiw
w1 wafsa Feon s &y wpyer ofar g 2 et
¥ fam 4% ufa aof ) 20 4 e = a3
ifan ?

(1) 800
(2)
(3)

(I5
45/\41' sgBa 180
J
b4
hr s

fod
T 1,000 ¥

T 850

T 950 [45A%*I1Y

[o®

3 g WfasF 33 # 16% fFaw w, 22%
fom & AMA W, 14% ==11 1 e 97 =17 I
& 60% 3G TSl W T &t 21 afz HEA F
3d o 3Tk UM T 22,852 9d @ o1 IHI AGH
g (T H) feat €2

5¢ 2
leo ?: of
1) 90,450 22
(1) Sa 4y 51\3
(2) 94,600 AN = I sqn
v
- (3) 98,500 s T , :u
(4) 99,000 SR Sese
- =
TF WETT < 994l ‘P 3R ‘Q I faame
50 UTH ga1 99R Hidl & | ‘P’ &t gX T 150 ¥fd 10
T T ‘Q° Wt X T 500 wfd 100 UM R
‘P 3R Q! 39 ThR e i € fo i
TAH FMA T 12 WA W ¥ <@ H ‘P i HET
Y 2
ls\ ,5
!
(1) 15 7 \ h’é. 5‘
1 3 =1o
2 20
(@) 25
A4) 35
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31.

32,

The value of

25X 064 4+9x036+ 10x3x048 5¢
(25 X 0.64 — 9 x 0.36)
(5x08-3x0.6)

(1) 4.6

2) 5.8

3) 6.2

4) 6.6

The ratio of number of girls to number of boys
is 3 : 2 in a class of 60 students. The average
marks scored by the boys in Physics is 72 and
the average marks scored by the whole class
in Physics is 81. What is the average marks
in Physics scored by girls ?

1 79

2 83
3) 85

@) 87

EEE
ACC-2023 El@

|"

w‘)_l

W

A

31,
—

P

16

GET IT ON
Google Play

25% 064 9 %036+ 10732048
SR R - — - o

(25 % 0.64 — 9 ¥ 0.136)
(5% 08 ~3x06) =33y,

lg-+ L MY )
1o+ HPEEL) u-1e

—_H ‘ e
4 “-—,5'{
ARG 1Q.24 |44 Joj7 xt.)
13.76 34
- ?_q__l
5)) o (e
SofPA L2 gy
*I’&'?“'Xlo 29 (s
(1) 4.6 H6 99
(2) 5.8
(3) 6.2
(4) 6.6
60 BT 1 UF FRIH TShHA F T F A

I A | UM 3: 2 §1 TShI bl ifal |
Wil 3HHA 395 72 & 3R T Fa g e 4
I irad 3 81 § | wrefedl gry wifast  wa

fory T Sfma 3t e €2

B
(1) 79 4 27

53 ed

==t * q
(2) 83 ___-a 3 3).‘3
(3) 85 -

87
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33, If ‘N’ is the greatest four digit number which | 33.
when divided by 27, 6, 8 and 9 leaves in each
case the same remainder of 5, then the sum
of the digits of ‘N’ is
(1) 18
(2 20
(3) 23
@4) 26

34. Working 10 hours a day, Jagan can complete | 34.
a work in 12 days while working 8 hours a
day, Magan can complete the same work in
9 days. If Jagan and Magan work together
6 hours a day, then in how many days will
they complete the original work ?

) 6=
1) 65
1

@ 73
71

@) 75
1 8+
@ 83

17

ACC-2023 E"@E
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nfa N’ wmt stF] #Y e oft wiem & Fa 27,6,
8 aftt 9 A fonfaa 03 w1 wepr feafa o e
M5 A R, AN F R A R

(1) 18
) 20

4) 26

A T 7 § 10 2R I FE T W H
12 i § QU0 X Sl § et 8 T wfafed &
Fh T I FW Al 9 fH H U FFFaO &
Ife A iR 7 wfafed 6 @2 & w1g w1 Fd

& D B A e el A ?
LTS
3 - |odo Mu-? ¥ 8
m—- "1t ___.._.:-__5___
1 gnd =43
1) 65
3> 11 o
wy °
1
@ 77
o 75
2
1
(4) 875
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35. A boat can go 15 km upstream and 21 km | 35, TF 7 2 €2 & |5 km W F TAFET @
downstream in 2 hours. If the speed of the 21 km W % wES W wwA 8 Afr v o
stream is 3 km/h, then the time taken (in A Akm/h &, A T Zm W F IFT 21 ks
hours) by the boat to go 21 km upstream and W wm F AET 15 km T H frm o T
15 km downstream is : (i) k.

1 1
2= p 2
(M 3 (1) 5
4 4
2— D e
(2 a5 2) 35
@) 3 3 3
1 1
- o
(4) 34 (4) 3
36. A five digit number 2A78B is divisible by 55. | 36. U ul¥ af=i Ft @ 24788, 55 | T ¥
What is the difference between the maximum (A+B) F fysag it =Faw dva 51 & 319
and minimum possible value of (A+B) ? F AW FNE?
M o M o Sasbe Aa1
2 1 M) 1 j\-) 6=5 AxL
@ 5 ey s O At
@) 10 @) 10
37. 7 liters of milk and 3 liters of water is mixed | 37. T @it el ‘P § 7 &I 34 3R 3 &ex v
in an empty bucket ‘P, In other empty bucket Toreman < 81 R0 @ 9wl ‘Q 1 it
‘Q’ six liters of milk is mixed in 1 liter of water. Tt # 6 iex g freman s ®1 At P R
3 liters of mixture ‘P’ and 4 liters of mixture 3 SeX IR 9l ‘Q’ | 4 iR fasw ww @
from bucket ‘Q’ are mixed in an empty bucket HTeet ‘R’ ¥ fireman s €1 &Rt ‘R ¥ uE Fi
‘R’. What is the quantity of water (in liters) &l (St #) foedt 172
: m w m
in bucket ‘R’ ? i\ Pr AL D =\oxT1a
1 ) 3

1) 1 liter Yougl ¥ gy Mg @ 5 VoREThiiEY
70 A 70 4q 143
23 W m = " 1472: 63 o‘""“

A 1—liter P~ 3 J=loyy MU A2 155 K Yoy QYe  (o1dex
70 6>
[ §=Txuo {g‘ \ w TP 33 =4ge

15 “\ 15

3) 2— liter (3 )\ > 222 ey “

® " ho Que 3 ®) 7 S

T a8 1= (3
29 . $aaIhizall 29 2\
ACC-2023 %g 18 P6
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38, Amit sold an electric iron for ¥ 2,656 after
giving a discount of 17% on the marked price.
Had henot given the discount, he would have
earned a profit of 28%. What is the cost price
(in ¥) of the electric iron ?

(1) 1800 35,
(2) 2250 3(;1 o
g

(3) 2500 v 3as

(4) 2675 \l-/‘,'
aw\

15

39, Study the given graph carefully and answer
the given question.

The graph shows the number of students
appeared and passed in class XI final exams
in a school in different years.

85
80 79 -

4 2 70

Appeared

in exam
D Passed

Number of Students
S B8858333S8

2019 2020 2021 @ 2022

Year

In which year the pass percentage is the
highest ? -

[ Pass percentage = (No. of students passed/
Number of students appeared in exam) X100 ]

1) 2019 _33,«1«4 -9
2) 2020 Lot =
(3) 2021 U, o
3 - .j‘lb “.q.”
4) 2022 % ‘33,75:‘“" "
ek 93
Ac&mzaﬂ W s %v -

38,

E 60
¢ 50 7

40
B 30
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sifEa qEm 7% F gz 2 % wfm A 0w
P ITTE T 2,656 H A w3 92
7 A Bt @ 37 28% w1 EOM WA fEm A
vAfEF A w1 w0 e () wn g

\tj

(1) 1800 HE o I e
2) 2250 cad o
) 2500

(4) 2675

feu M WE H AFEGEF Avgga Fi 3R 7T
¥ IR G|

7% faf= aul § ws @ | maneat w4 7
3ffem wlen F Sufed i 3wl 2l #1 5em =
T ¥

90 85
&0 79
80 75
74 D
70 70 - 70

—] Taar s
mf&a

20
10
2019 2020 2021 2022
=§

fora = A St Wi weR oA §2?

[ 9§ wfowa= (ST Bl St wen/ e §
I9Fed BRI+ WE&AT) X100 ]

(1) 2019
£2) 2020

(3) 2021

#T 2022
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40.

41.

Jyoti, Kavya, Shivam and Manish start
walking from the same point in the same
direction around a rectangular track and each
onc of them completes one round in
180 seconds, 270 seconds, 360 seconds and
240 seconds respectively. After how much
time will they all meet again at one point ?

(1) 30 minutes 20 seconds

; ™
2) 32 minutes L

e

(3) 34 minutes 15 seconds o
{ ?
N

(4) 36 minutes

3
Rohan’s present age is 7 times of the age of

his mother. After five years, he will be one-

half of the age of his mother. How old is his
mother at present ?

(1) 31 years
(2) 33 years
(3) 35 years

(4) 37 years

BEE
ACC-2023 s 20

GET IT ON
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wifa, wron, forem st -t oF SrEEEr 3 2
it sive v & fom o o & GE A = p
wr & aftr 3 N gFEE FUM: 180 T
270 %3, 360 TFZ 3t 240 THZ o TR T
70 Fwa &1 A it R aw e g om
fi7z wr fieii 2

36 foe

41. ﬂaaﬂaﬁqﬁmmﬁﬁﬁmm%m

T Ui o °1E SEH Y AT Al H AG F
MR Bl | SdHE H 3Gt | i 39 fha 82

A= A
1) 3139 ‘3@'7
)R
(2 3394 e sl 3
uie
|\ D5

81 359

(4) 379
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42.

43.

ACC-2023 &

Aman takes 36 minutes more than
Sudhanshu to cover a distance of 130 km. If
Aman doubles his -:pccd he takes 42 minutes
less than Sudhmwhu to cover the same
distance. To cover lhe distance of 195 km,
how much time (in :hou_rs) will Sudhanshu
take with his same si)écd ?

e

& 4 __
1) 2 —
M &~
1
@ 23
3 =~
@ 23 n
@ 3 ;;

o
|

I

1
ol

|

(438 + 490 — 439 4 441) is divisible by which one

of the following ?

1 7 o
@) 15 &

o
(4)

e S

21

42.

43,
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WA 130 km %Y 7 1wy iy A 36 et
sifirw A &1 7fz s areh s AR w2
¥, @ aw wma g @ wey S g A 42 fer
F1 A@ &1 195 km FI F0 T FA H 9] F
AT T s A e T (52 1) a2

(1 2
1
2 23
3
® 23
4) 3

(438 + 490 439 4 441) fyeAfafea € fsud
fawsg %2

A1) 7
2) 13
3) 15
@) 17

P6


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Adda247 -

:)".- |’| ".J
7

L ]
2'1 3 G
= r 1]
] 2
| 44. 6 'm\' \ t §= 4 =
44, The value of Pl 1 I | N | ) )
: 3
" 14
" 19,8 . \3 N \ o QAT
%a; 9 '\’;;: 3.-';3"1 LA BT p
', | (712D 12~ |- 1D
(1 1) ! | 5 1O 1
1 1 1 (4 3 12 |
PN LY S g b R4 EVRTH QN S
2 1 1141"”3 55 F UM # f
k| I
' ' = Al=)= 3
e s
m 7 ‘+1Y w7
(2) 6 (2 6
~(3) 1 ® 1 Mo
0>
>
- = @ ¢ -
o
O
~

=,
45. Seven years ago, the sum of the ages of a | 45. & =4 Ygal, Uk HI iR IqH! 941 &l G F

mother and her daughter was 46 years. The AN 46 € A11 IAH! TAHH Y I 3TIE 3 : 1
ratio of their present ages is 3 : 1. What is the ¥ 2 St IAHA Y FR?
present age of the daughter ?
2 3R Nz YR
1 ears - i
(1) 1y (1 117 A [<\s-
®)! o
(2) 13 years (2) 139d E:;’
W
0
(3) 15 years ,(3)’ 15 99 (:-i;l
~.]
(4) 17 years @) 1738 =]

E4E
ACC-2023 543 22 PG
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46. Ajay, Bablu and Chirag can complete a | 46.
certain. work in 21, 28 and 15 days |
respectively. Ajay and Chirag started the
work while Bablu joined them after 5 days
and worked with them till the completion of
the work. For how many days Bablu
worked ?

1 22 day
(1) 25 days
6

(2) 25 days

gl }
(3) 5 days
4) 4 days

47. If numerator of a fraction is decreased by ; 47.

20% and the denominator of the same
fraction is increased by 30%, then what
fraction of the old is the new fraction ?

2
® 3
3
@ 3
6
@G 13
@ =

orio)
ACC-2023 a%g 23
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48.

49.

50.

T 1,800 is divided among Nitin, Tushar and

o |
Gitanjali. The share of Gitanjali is 1 of the

sum of the shares of Nitin and Tushar. What

is the share of Gitanjali ?

(1) 700

4) 1000

The average salary of 28 employees is
recorded as Y 16,584. If the salary of an
employee with value ¥ 14,526 was entered
wrongly as X 41,238, then the corrected

average is :
SaUs
(1) 16238 a\
s
2) 15630 SF 1
s
(3) 15532 “{_g\/"
3
(4) 14480 o

The income of Anand is 30% more than the
income of Mayank and the income of
Radhika is 70% of the combined income of
Anand and Mayank: By what percentage is
the income of Radhika more than that of
Anand ? (Correct to one decimal place)

1) 165 ,
3T,
2 19.6 5
3) 21.8
a Wy
(4) 238 H
orig) w9
ACC-2023 53
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¥ oftatreft owr faeen faferr it qroe F feenf
7 : &) ritataent @ feem freren 22
(1) 700 i T e (Bes
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L7 800
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A2y 15630 e
3 gru
X3) 15532 Sa4Y (311
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3T 1 G Hde 1 39 Q 30% 3fieF € 30
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70% 1 Uiyt i A 3AFHS 1 | fohad
wfea aifus 82 (SIWEd & T T 6 Ta)
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51.

52.

— "
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PART - 1l
GENERAL ENGLISH

Choose the option in which the given
sentence has been changed into passive voice.

1 wrote this book.

(1) This book had been written by me.

(2) This book has been written by me.

_{3) This book was written by me.

(4) This book is being written by me.

Fill in the blank in the following sentence with
the help of the given options.

We had completed our paper when the bell

() rang

(2) had rung

(3) had been rung

(4) was ringing

B4E
ACC-2023 E%&

25

(53 - 54) : Fill in the blanks in the following
sentences with the help of given options,

53. Shashi is honest girl who helped

me.
(1) a
o o
(3 the

(4) no article

54. Either you or Ram to help me.
(1) have
(2) are
(3) were
A44) has

55. Identify the part of the sentence which has
an error in it.

He told / me yesterday / that he / will help me

(A) ®) © ©
A (D)
¥ ©
@) ®)
4) (A)

P6
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Choose the option in which the following
words/phrases can be rearranged to form a
correct sentence.
(A) a piece of bread
(B) driven by
(C) stolea
(D) hunger he
1) (A, (©), (B), (D)
@ @ O ®. O
3) (©. D) (A), (B)
44)  (B), (D), (©), (A)

(57 - 58) : Fill in the blanks in the following
sentences with the help of given options.

57. After a gap of two years, he has decided to
to teaching.
(1) goon
A2) go back
(3) gooff
(4) goalong
ACC—2023%‘§

26

58.

59.

60.

GET IT ON
Google Play

In the summer season, the mango 1,
fresh fruit.
M1)  brings on
A2) brings out
(3) brings forth
(4) bringsin
I have heard rumours, but nothing definite

Which of the following words can correctl
replace the underlined one in the abov
sentence ?

(1) small
X2) vague
A8)  precise

(4) large

Familiarity breeds contempt.

Which one of the following words is nearl
opposite in meaning to the underlined one

(1) amity

A2) remoteness
(3) attachment
(4) passion
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PART - 1l
GENERAL HINDI

ﬁmmﬁaamahmn{dmummmmmﬁai
¥y (61-63) & Ww swr A )

WRa 4 94E 20 81 Tel F fram wia afiam
FT B T T 2 371 I F ek 2 |
o wifd FuH1 & Hiea ofgm A A dva gd 81 admm
g H 3 FEhR S & = A frami #
FIHE AN TS R WA AF AR Fiea A
faga & 3F < A YA 9 T@ ¢ AR-YRE F ofa
FAYX TR T HORX F T3-8 vA-F friat am
A7 orEm gufa & @ =9 ¥ | g sy
e TH GO A o1 W 91 Hel Aed 3R
@[ Q o R fava A yfgs 81 TS w6 wem ¥ oo
iz F9 [ ¢ o Ao fAfe=a e g1

3REyfa T WIS o1 -
(1) H

(2) SRR

By wm= dEfE
(@) THa wifass

Eﬂaqﬁwﬁammﬁamﬁﬁaa%ﬂlﬁ
A i e 6 o A S
X2) =3I HET R WG : |
(3) IR | FME A
4) TH wt RS

WER & 93-98 YA-F N Gyfa F @t
FAME? I
(1) i | & IS IR AR |
<27) i T FH . o |
(3) orfuefus ST =F =
4) mwﬁqﬁﬁwmﬁﬁz

64, aﬁaﬁgﬁﬂﬁqﬁi@aﬁmmwm
2?2
A1)
(2)
©)
4)

61.

{007

62.

63.

HfTes
<feqor
e

x_ﬁ-E]

(- | ]
U ‘1

1l
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65,

66.

67.

68.

69.

70.

faefafea o #-m frren wh 74 32
X1) farR 3mma @ - s
y2) fawm #E g A A - A
A3) S firm o - e

(4) N F@ WA TE - TEAAT

frefafaa facmedft wr=-7mi 4 smma 2 .
A1) A4 - faam

«2) fefa - =

(3) e - =fa

4) enfavia - fadvma

frefataa 3 ' via’ &1 wEiEar 7@ 2 :
(1) =YY
(2) HYH
(3)
A%) fay

"2t IBTET’ Yerek 1 W Y €
A1) f5E =1 uHE e

(2) gt wA

(3) Uty fiyer W AFHS o

(4) FU-A HEA

o TuE ¥ el s YUH BT €, S9 $ed © ¢
)  FivE 9HE

(2) dcgew §HH

(3) HHYRT TUH

(4) %5 WM

frefafes 8 Ss dfu e T TE & -
A) i
(2) W=
(3) deeA
(4) S=RUW
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PART - IV /¥ - IV
BASIC KNOWLEDGE OF COMPUTER OPERATION, GENERAL AWAREMESS 2

CURRENT AFFAIRS | T¥a[X THTAA B1 MU W, TAT=0 Arroasan Td rfias s

71, In computers, RAM stands for ;

(1

Read Across Memory
Read Access Memory
Random Across Memory

Random Access Memory

72.  Which of the following is not a cloud storage

service device ?

(1) Floppy Drive

(2) One Drive
(3) iCloud

(4) Google Drive

73. Which of the following is not one of the

standard file extensions of an image file ?
(1) .wav
(2) .bmp
©G) Jrs

(4) .png

EE
ACC-2023 Elﬁ

i 70, R A Y (RAM) 1A R

I
(1)

Read Acrosa Memory

(2)

Read Access Memory

)

Random Across Memory

Random Access Memory

72. frafafga 4 4 FH-m1 Fa32 = (clou
storage) HaTd (services)/3THIT (devices) 7
€2 -

FigTEd (Floppy Drive)

¥ g4 (One.Drive)

A)
()

s :_._

(3) o aama;'(ig:oud)

(4) T $1E9 (Google Drive)

frefafad 3  SH-91 & 399 BRd §1 B
fﬁrsaqau%mﬂit?

73.

J li’ll |

wav

A1)

I
-

(-
by

.
| “uc-ll
i,
!y

(2) .bmp

‘ !"'""l
U

3L

U

(3) .psg

oy,
|

..||
W i

rl
bidanninnn

"

(4) .png
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74. Whichtype of network mostly we build, when | 74, 5 fwift stmsa # # m sfes e, 37m-

two or more branches of an Organisation, stem 2 #f frog #f @ g $2002 w1 g
situated in different countries, are connected 34 wen g % feu wbesima: fen gwr #
together using internet ? Yok wm %2

(1) MAN (1) YT (MAN)

) WAN 42 T=E YA (WAN)

(B)EAN (3) - T (PAN)

(4) LAN () T (LAN)

75. Which of the following is an example ofa | 75. Ta=fafad 4 4 s wiwfgg 99 e

popular web browser ? (web browser) T I&T&T0 HH-T1 € 2

(1) Microsoft Office (1) WM AMFEY (Microsoft Office)
(2) Microsoft Excel (2) WEshER TEd (Microsoft Excel)
(3) Microsoft Access (3) WITHIEIR TEEH (Microsoft Access)
(4) Microsoft Edge A4 TISHERE TS (Microsoft Edge)

E¢E
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What characters should you prefer and use
in a password to make it a stronger one ?
(1) Only alphabets

(2) Combination of alphabets and digits

(3) Combination of alphabets and special
characters

(4) Combination of alphabets, digits and
special characters

Which of the following is not an example of
Operating System ?

(1) MS Access

(2) Android
(3) Linux
(4) iOs

A user communicates with a computer with
the help of :

(1) RAM
(2) Inputdevices only
(3) Output devices only

(4) Input and Output devices

ACC-2023 %.g

GET IT ON
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76, frift wperd wy wfvew s (200) T
forr sy PR TR W TN R R Wl
#h?

(1) ¥am aEFErza (A7) (Only alphabets)

(2) sEraze i fafaza (il si sfsl) &
fasm (Combination of alphabets angd
digits)

(3) ewEEzE (Ful) i dwm weed w
fugm (Combination of alphabets and
special characters)

My srewEgE (), fefem (F7) A
#HiFd &1 fA47 (Combination of
alphabets, digits and special characters)

77. Trfafaa 7 @ si3-71 aiqifén fa==
(Operating System) 1 U& 331301 & § ?

] TATE TR (MS Access)
(2) UgEE (Android)
(3) WA (Linux)
(4) TRHATH (i09)

78. T& WA (user) fFush! Wermar @ &g &
WYY (communicates) FTaT & ?

(1) W RAM)

(2) e FYE feamw

() Waa e feamy
A4) TR IR ey feamw
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which of the following is the largeet semmory | 79, ar Tomms Ol ¥} porn #f frmefafipe ff 2

7. |7

gnit compare to the other available options ? | femet 29 peof et wfiee 4D
|
|
(1) Kiobyte : (1) 7972 (Kilobyte)
|
ey Gigabyte (2) TimEYZ (Gigabyte)
(3) Terabyte 3] TTasZ (Terabyte)
(4) Megabyte (4) FmETZ (Megabyte)

§2. Which software, generally preferred most, | 80. afg® T&= it fums wfén (des, 2fA=s,
out of the following options, to write a formal FHetara Afe) & W9 yais Fa=wm 3]
leave application with basic text and Fraed faas & fag frefafas fased 5 3
paragraph formatting (bold, italics, AR R fFg gieam 71 gaiys mafGsar o
underline, etc.) ? M E?

(1) MS Excel (1) THTE @EA (MS Excel)
(2) MS Word 42) THUE 9% (MS Word)
(3) Adobe Premiere (3) 2™ WA (Adobe Premiere)
(4) et (Tally)
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83.

84.

247

2023 has been declared as the International
year for which food grain which is known to
be climate resilient and aligns with
sustainable development goals of the UN ?

(1)  Wheat
(2) Jute

(3) Maize
(4) Millet

Who won the Best FIFA Men'’s player award
for the year 2022 ?

(1) Kylian Mbappe

(2) Lionel Messi

(3) Karim Benzema
(4) Christiano Ronaldo

Which of the following element’s atomicity
is Diatomic ?

(1) Argon

(2) Helium

(3) Phosphorus
(4) Nitrogen

Which of the following methods is used to
separate the colloidal particles ?

(1) Sedimentation
(2) Filtration
(3) Decantation
(4) Centrifugation
EgE
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af 2023 ) fn Fe=1 R st o g,
faem mom & faray stermy ufaeddt 401 % morn,
PR g 3 A sitn PrEET AT s
T T &2

n

(2) "z

(3) wFH

N L

T4 2022 % FaAfep= w59 f@ars w1 o
frea st ?

(1) fepeiras T=m

A2y fasima A=

(3) w49 a5

(4) frfear e

fr=ifera d |/ fora 9 =0t woafvasar fgaaaiog
82

L) e

(2) feram

(3) HIERRE

My RS

Hergt woremedl & gua % fag freifed
Q%A 9 fafy ygaa i €2

(1) 3aErH

X)) e

(3) fr=rY

A9)  ATHTA
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wzeft o N 12 Af % % Prafebaf & fam wah@

gs. The twelve (12) eVidya TV channels based | 85,
on the line of One Class - One Channel for | #am A wAfa Afors qrempreg (em Al
class 1 to 12 to air educational content related ] #) refifarwy o wmfra w13 % faftra oR Fan
to the respective classes is an initiative of | vk drat Y ok oamnfra apr (12) §-Fen
which of the following ? | it A ferifea o A ferkt mzer 32
(1) SWAYAM (1)
(2) PM eVIDYA ) i um d-fen
(3) DIKSHA (3) @en
(4) Amrut eVIDYA (4) 3mya 3-fam
g6. Assertion (A): The year 2020 saw a very high | 86. 3ifd@rer (A) : ad 2020 # werowifa #i 27 779
rate of inflation which went beyond the RBI’s sifi ot St sl ford I+t 6 wfawm Fi
inflation upper tolerance limit of 6 percent. Fqdt wfgwm drm | stfis @1 )
Reason (R) : One of the reasons for the high HIOT (R) : 99 2020 H =1 qEropifd H TH
inflation in 2020 was the Covid induced HRU Hifae TRt gr wfta Fim-2j@en § 394
demand- chain disruption?;_i*hen the supply faet (3ray) a1 Srafe smavas a=qa w1 A4
chain for essential goods remained sigen Frernfaa @)
unaffected. f
Choose the correct answ t:er:?om the codes = fer T g # | wd s g
below : ‘—;—:
(1) (A) is correct but (R) 1sjzvrong (1) (A) 98 ® fog (R) o ©1
(2) (A) is wrong but (R)JS correct (2) (A) @ § TR (R) & B
(3) Both (A) and (R) are correct. BT (A) 3R (R) 3 T&t )
(4) Neither (A) nor (R) is correct. (@) AW (A) TR (R) F& T
87. What is the term used in National Education | 87. Usid faan =ifq, 2020 # fea 93 =1 arcad
Policy 2020, to refer to the regulatory W, §-EA AR gefeasor & weEy |/
framework to ensure integrity, transparency Ty 3R sifyea faar &t sg@r 2 *
and resource efficiency oif__?fﬁ: educational HY-|1Y Tl gien (S9) iR gdsis yheq
system through audit and-public disclosure & HeAw | Ao gonedt F gefTel, el
while encouraging mnovéhon and out-of- 3R wEA awa giafkEa F:01 ﬂimﬁﬁm
the-box ideas through amtonomy, good TR QL7
goveérnance and empowerment ?
(1) ‘Weight and Tight' ‘=_ (1) ‘Gz g e’ (‘avF AR wIR')
(2) ‘Straight and Light' — - X)) 'weuvsane’ (‘g 3R we')
() ‘LightbutTight @) ‘v W e (‘e g wO)
(4) ‘Straight but Tight' 4) 'V’ (‘w9 fag W)
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88.  Which of the following doctrines evolved by
the Indian judiciary acts as a specific
limitation on the powers of the Parliament to

amend the Constitution ?
(1)
(2)

Doctrine of Severability

The Basic Structure Doctrine

(3)
(4)

The Doctrine of Eclipse
The Doctrine of Precedent

89. K.B. Nepali won the Sahitya Akademi

Award 2022 in Nepali language for which
of the following works ?

1)
@
(3)
(4)

Saino

Chhe Roopak
Champak
Khatmanu

90. The writings of which of the following

thinkers are believed to have inspired the
revolutionaries during the French Revolution
in the late 18" century ?

(@)
(b)
(©)
(d)

Choose the correct answer from the code
below.

(1) Only (a)
(2) Only (a) and (d)
(3) Only (b) and (c)
(4) Only (@) and (b)

Rousseau
Voltaire

Martin Heidegger
John Stuart Mill
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88, vt wprnferwn gt AgwfE wEom faag
Hrz g sifara sovE ok amgel | e
wfweif wx fafar Fotm s 2 2

() =t ot fenfaferdt (Fores st

(2) = Afis ZFm FE (genEa T
forgia)

(3) azﬁhsﬁmnﬁﬁm(m fazia)

(4) zmmﬁﬁ?(mmmﬁ

89. ¥, maerﬁ-'qmwm;ﬁmfn
ATt v Y Aot 1 Wi SR T 202
A gt o a2
A1) W&

X2) ©w&

(3) =mE

(4) @quﬁ_f
=

90. 1sﬁwmﬁmmmm
HiSATHINGT b b faaral & a@T 9 uf
ﬁlﬁﬁwm‘%ls
(a) &=
(b) dIERR

Mc)  HIfeA BIEETR
d) < =;F fua
A feq T e @ Wl I gF

E—;;}"\
(1) %—cﬂ@:t;
42 ¥ @R ()
3) %aa(b)'fﬁ’ﬂ(c)
@) W(gm (b)

pt


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Adda
=1

91.
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93.
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ACC-2023 53

247

X L&C-"’)

GET IT ON
Google Play

PART -V /¥M -V
SUBJECT KNOWLEDGE (ACCOUNTANCY, ANNUAL ACCOUNTS, TAXATION, RUDGETING AUDITING & FINANCIAL
MANAGEMENT, GeM) / v wrs (e, ks den, arerry, wof¥n v aftve of ffl mfry, Gem)

Every supplier shall be liable to be registered
under Central Goods & Services Act, 2017 in
the State or Union Territory, other than
special category State, from where he makes
a taxable supply of goods or service or both,
if his aggregate turnover in a financial year
exceeds :
(1) ¥ 15,00,000
(2) T 20,00,000
(3) T 25,00,000
(4) < 30,00,000
Goods costing T 60,000 sold to Manish at a
profit of 25% on sales less Trade Discount
@ 5%.
Calculate the amount to be shown in Sales
Account : 25
%
(1) % 77,000 i »
Ep
(2) ¥ 76,000
) 371,250

(4) ¥ 75,000
Which of the following pair is wrongly
matched ?
(1) Financial Statements : Final Accounts
(2) Trading and. Profit & Loss Account :

Income Statement
(3) Balance Sheet : Position Statement
(4) Funds Flow Statement : Cash Flow

Statement

o

35

91.

92,

93.

wor® FiEEal (Supplier) 2 fir it e e
i A A, R i avft el R
arz wt, Af2 A fesft e Ay e A af
#F1 &, avrn n wE wA & A 3w o
A ¥ w J7FPI 2017 (Goods and Service
Tax Act 2017) % @&a Tt weaen &m af2
I OF ot af o T W (turn-over)
frefafaa A afirs &

(1) T 15,00,000
42) ¥ 20,00,000
A3) T 25,00,000

(4) ¥ 30,00,000

T 60,000 Ft AT H WA TG R faET W
25% I 921 5% SATIR 921 YT o<1 741 |

farg @ A guid A Tt ufa 9fiewfad
Hifu |
(1) 77,000
A2) % 76,000
X3) T 71,250
(4) T 75,000

= o @ forg g &1 fye e § 2

A Tt faer : sifaw @
(2) SR TE A9-7 @ ;3 faar

(3) T A : feufa faemo
M) F AR faa : I yare faam

P6


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Adda

94.

96.

247

Which of the following 1« conadered as ! a4,

nominal account ?

(1) Copvnght :
(2) Goodwall :
(3) Trademark |
(3) Rent :

l

The portion of the uncalled capital, which can | 95.

be called only at the time of winding up of |
the company, is known as :

l
(1) Uncalled Capital |
(2) Nominal Capital
(3) Reserve Capital

(4) Unsubscribed Capital

Anil and Baldev are partners sharing profit
and losses in the ratio of 3 : 2. Anil’s capital
is T 60,000 and Baldev’s capital is T 30,000
before adjustment of Revaluation loss of
T 14,000 and General Reserve of T 24,000.
They admitted Chandramani as a new |

ive him ~ |
partner and agreed to give him 5 shareofl

profits. ~ Chandramani will bring |
proportionate capital Calculate the capital of
Chandramani :

(1) 29,000
2) 22500
(3) T 24,000

(4) % 25,000 |

GET IT ON
Google Play |

¢t nfsnsas iy T b,

(1) atxorrfsrsTt

s - = 2 =
LRI R AT T, fIasa=s= s =

i =2 L L .
Sa T Ga a2 s

Fia FE 9524 3 2#'$Hﬁ='q-w’q?‘
TE TEEE 2 e w2 1400 =
TEE E33 324000 = TS S B T
_I?T?m,mmmﬂ 1-“:30”.0
ﬁ'uwﬂ"’_’?m'ﬂ'—'{w_lnqrw

- - By l - - -
zdal A THl H 3 WA ¥ Se/7 &=

-

- - - - -
FZAIA A aas Al o Al SZe T
- - = - -
‘1_51] qii=iTia %]lﬁq -

(1) 29,000
(2) T22500
(3) 24000
(4) T 25,000
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Which of the following is nol an accounting [97. fam if 3 Y ot Amtea adfverm off &)

equation ?

(1) Liabilities = Asscts = Capital
(2) Asscls = Liabilities — Capital
(3) Assets — Liabilities = Capital

(4) Assects = Liabilities + Capital

Journal entry is not made for which of the
following ?

(1) Rebate
(2) Commission
(3) Trade Discount

(4) Cash Discount

In the absence of Partnership Deed, partners
are entitled to :

(1) Profit sharing in the ratio of capital
(2) Salary
(3) Commission

(4) Interest on loans and advances

. Who generates contract on GeM ?
(1) Buyer

(2) Consignee

(3) DDO

4) PAO

37

(1y  Zmand = winfont - of At
(3 vinfenl = Zamd it
(3)  winfat - 2ot - ot
Ao it

98. fa=t o A fores feort frsmamren wfafe 2 #i
a1

(1) 7

(2) wHHERA
) SR g
(4) e

99. WIRER! Her@ & 19d H, TReR) & fre1 9 &
HAYFR BT :

B ISt ergem § w favem
(2) &
(3) wHHE

4) RO TE A WA

100. 9 (GeM) W (et HT Wad Fiam & 2

A SRl
(2) Jovit
(3) g
(4) diwad.
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101. Advance amount received from customers i< |

not considered as «ale. Tt is hased on which |

concept ? |
(1) Conservatiem }
(2) Consistency

(3) Accrual

(4) Money Measurement

102. The written down value of Machinery is
T 12,00,000. The original cost of the
Machinery is ¥ 20,00,000. It is sold for
T 24,00,000 during the year 2022-23. The
resultis:

(1) Capital Profit ¥ 12,00,000

(2)
©)
(4)

Capital Profit ¥ 24,00,000
Revenue Profit ¥ 12,00,000

Capital Profit ¥ 4,00,000 and Revenue
Profit T 8,00,000

103. Which of the following formulae is correct

for calculation of ‘Cost of Goods Sold’ ?

/(»1')

Opening Stock + Purchases + Direct
Expenses — Closing Stock

(2) Sales—Net Profit

3)

Opening Stock + Purchases + Direct
Expenses + Closing Stock

Purchases + Direct Expenses

4)

oo
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101, wrsl A ura ufim amfn K Fren o oo
) 7z fen steern v arnfra )

(1) =fynfrn
M) A
A3 it

(9) Hawm

102. U& Wit ®1 @fga 9577 T 12,00,000 21 33
TEiAdt w1 ge @ T 20,00,000 F1O3H
2022-23 & <A T 24,00,000 § =79 f7m w7
gfom ® -

¥ Y @ T 12,00,000

(2) ST @™ T 24,00,000
(3) 3MET@ @M < 12,00,000
4) ST =9 T 4,00,000 TYT AT AH

< 8,00,000

103. ‘99 T WA H AP’ F Yiwad &g FE H
HHE- A TR 7?2

Ay ifve @i+ %3+ 73 =99 — HAfas

faa

(2) foswa-y @

(3) WRfvw wiaar+ %49+ yws =qq + Afaw
i

4) FE+VEY =4
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104. Scction 28 10 44 D of the Income Tax Act,

1961 is related with :

(1) Income from Capital Gain

(2) Income from Hm;:o Property.

(3) Income from 5.1\5]}'.

(4) Profits & Gains (rom Business &

Profession. R

-

- !

-

. &

105. The depreciation of assets is computed on

their :
(1) Book value.
(2) Market Value.
(3) BookValueor Matket Value, whichever
is less. (,,11)
(4) Scrap value. (D
o%,
106. How many parties ar ré_involved in a Bill of
Exchange ? o)
=]
@ s )
2 4
@) 3
4 2
~J
107. Which of the followi ‘gas“ direct tax ?
(1) VAT 3
Q0
(2) Excise Duty (':r_'}"’
(3) Goods & Service-Tak
(4) Income Tax '
EEE
ACC-2023 3
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| 100, w5 w7 wiifrm 1o4) ¥ um oJa d g 6
| Car Al } o k.

(1y Ay A are
"1"’ mr ot N um
(3) v

A4y mrmer A 9 A Ay aen sfiey

05, afexinfal o0 am afewfaa 51 awt 2, 3739%

B O SOk G

A2) A S W

(3) YR I AT AR T |, W6t
FARN

(4) Iafoe g W

106. fafma o3 4 fral g e 2

1 5
2 4
£3) 3
4 2

107. =1 # | SF-91 YO FE?
(1) @
(2) SR I
(3) T T AN

39

A4y R
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108,
Amount paid for catiemery 8000
during 2022.23
Creditors for Stationery on 7.2
March, 31, 2023
Stationery spoiled during the 2,400
year 2022-23
Stock of Stationery on 8,000
March 31, 2023
How much amount of Stationery will be
shown in the Income & Expenditure Account
for the year ended on March 31, 2023 ?

(1) T 72,000 Do o0
P Gles
(2) T 79,400 0, o

(
@) T 765800 .y
(4) 87,200

109. (4
Opening Stock 2,00,000
Closing Stock 2,20,000
Purchases during the year 14,00,000
Goods are sold at a profit of 30% on cost.
Calculate ‘Revenue from operations’.

(1) T 24,20,000
9 §¢ oo?
(2) T 18,20,000 j,"}\-; 1Y
(3 ¥ 17,94,000 112
(4) T 20,84,000
ACC-2023 543
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?
N2 & Arr 2t 1 S0 000
ey ) et nfe
1) a2y R 2t 1 7.200
rm
i 2022.23 F Fmy mma zd 2,400
233l
31 v 2021 F wurdt w SR 8,000
A1 s 2023 Y T g A 79 3PT-FT A |
waAft F) fret venfa zodAr s ?
(1 z ﬁZ.uoo
@ 27940
3 2 76'.—8!00
(4) 2 g'{,goo

3

RIYe Tfaan 2,00,000
Hfaq wfa 2,20,000
a4 & a*rrr-r EX| 14,00,000

amaqrso% oY H R Y 9 991 9. e

RIS g awmq gftefera Sifaa |
)

(1) T 24, 4,20,000

)

©)
(4)

4 3‘8720 000
2 17:94,000

T 20,84,000
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110. Which of the following account has a Credit | 110, 303 9 3 ez w1 som dvy v 4

Balance ?

(1) Return Inward
(@)
&)
(4)

Carriage Inward
Carriage Outward
Return Outward

111. The ‘Goods and Service Tax Act’ came into

force on :

(1) April 1, 2017
@)
(3)
()

April 1, 2018
July 1, 2017
July 1, 2018

112. Goods can be purchased through GeM

without inviting quotations on the basis of a
certificate to be recorded by the competent
authority up to the value of X :

(1)
(2)
3)
(4) 25,000

10,000
15,000

20,000

113. The liability of a sole proprietor is :

1)
(2)
®)
4)

Decided by the sole proprietor
Unlimited
Limited

Undecided

O30)
ACC-2023 a{‘éﬁ a1

it urTE

VT3 MR

m
()
)
A47

T2 TR
EIRLIIEE

111, a8 wd fm w afufrm am g

1 37 2017 R
1 379 2018
1 [Té 2017
1 S[@8 2018 i

(1)
(2)
)
(4)

112. | AUl gR TF FA-99 Afieifad #3
& 3R R, fafac st fRa fam € 5 (GeM)
& Wy fom ufw 9 1 9 g fem s
HHa1 €, TR T

A%)
(2)
()
O

10,000
15,000
20,000

25,000

113. Tl @ &l A Bl €
(1) THd @l ga @@
A2 3rEifaa
(3) i
(4) fvita
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114. The form of Annual Financial Statement and | 114, w% et Poren o vl R af W T

Demand for Grante ehall be 1aid down to

Parliament by whom ?

(1)
(2)
)
(4)

115. “Anticipate no profit and provide for all
possible losses”. Itis based on the convention

of :
(1)
)
@)
()

116.

C & AG of India

Finance Minicter

Controller General of Accounts

Chief Controller of Accounts

Consistency
Full Disclosure
Conservatism

Materiality

Opening Stock

Purchases

Direct Expenses

Indirect Expenses

Closing Stock

Calculate the ‘Cost of Goods sold’.

@)
@)
A2)
4)

T 71,000
T 98,400
T 70,000
T 80,400

ACC-2023 g@g

4
17,000
61,400

9,600
10,400

18,000

42

v o ¥ gEpr wm k)

(1) v ¥ Petee of meeton fritaes
2y Prad

(3) werEm frerw

(4) T A Frirs

115, &y ®Y amm A7 w0k, Wit Wwifra ol i
wmanm fem s g faw oftardt @ smanfr
tawe:

(1) ST

(2) o R
A3y wfgatem

(4) W

116. 2
TRfWh Teferan 17,000
w9 61,400
Ty =g 9,600
YA [ 10,400
3ffem Tefaan 18,000
'S T TS i AT Sfefea Hifag |

(1) 71,000
(2) 2 98,400
A3 270,000
(4) T 80,400
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117, If the amount of any known liatality canevt |
be determined accurately, then : |

b)) |
(2)
)
(4)

Provision should be created
Provision should not be created.
Reserve should be created.
Reserve should not be created.

118. The profit is 50% on sales. What is its

percentage on cost ?
(1)
)
(3)
(4)

100%

%

75

%

50
25%

An amount received from Seema, whose
account was previously written off as Bad
Debts, should be debited to :

1)
)
(3)
(4)

119.

Bad Debts Recovered Account
Seema’s Account

Cash Account

Bad Debts Account

120. Which of the following is levied by State

Government only ?

(1) Corporate Tax

(2) Wealth Tax

(3) Estate Duty

(4) Entertainment Tax

43

ACC-2023 %.g

GET IT ON
Google Play

117, =% G gy mfes ) nfnr mitwm & Pouffin
Tt mreh @ t

(1) sy iy wrn o

(2) sy iy ol R nfaen
AY) v ey wen afa
(4) v e ol wrn wfon

118, frwm gt e 50% & #ma v gorw afrma #n
t?

AT 100%
() 75%
(3)
(4)

50%
25%

119. Hw, 5 3@ = F 9 A e & SAvafaa
fora = g €, ¥ @& y0fv wra €1 wId fam
T H i frm S e ag §

Nl) T FE TR G
(2) €= @
A3 Twg T

(4) &9 FO G

120, f=1 ¥ Q fFge IR0 Faa TH-TEHR R
frrsmTm &2

(1) fm =
(2) wufa
(3) w9
A4) AR W

P6


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

121. A sole proprictor withdrew T 1,00,000 on
January 31, 2023 for his pereonal uee from
his business. Calculate interest on Drawings
02201

L S

@ 12% p.a. for the year
(1) 1,000
(2) 2,000
(3) 3,000
(4) T 4,000

-3

’a ~

122. The primary function of Audit is:

(i) toverify the accuracy and completeness
of accounts.

(ii) to secure that all revenue and receipts

collected are brought to accounts under

proper head.

(iii) to ensure that all expenditure and

disbursements are authorised, vouched

and correctly classified.

Which of the above statements are correctly

given in the codes below ?

(1) () & (i) only

(2) () & (i) only

(3) () & (i) only

(@) (), (i) & (i)

Which of the following is not considered as a
Current Liability ?

(1) Interest outstanding on Debentures
(2) Contingent Liability

(3) Bills Payable

(4) Trade Creditors

The manager of a firm is entitled to a
commission of 5% of Net profit after charging
such commission. Net profit before charging
commission is T 42,000. Calculate the

123.

124.

Commission of Manager.
(1) T 2,000
(2) T 2,500
(3) ¥ 3,000
(4) ¥ 3,500
EgE
AcC-2023 883
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| 121, we wrer meowd 3oy e awin g oy
sy 1A el 2020 R T L00.000 Fresy,
wf 200220 ¥ 12% 1A K 2T A wmerm gy
i afrefa Aifar

Y T oo

(2) T 2000 5.5 g 2IVITT
(3) T 3000 ’i' oA
(4) T 4,000 { )

122, dmn-witan F w1 wwrd

(i) @@ W whwm g Hefa w1 genfr
N

(i) & g s s mit s 3ir mftan
T wwn A gwfeam 1 wd € 3l wd A
Y aaferq = 7 ¥

(i) ¥ ghfeaa & fF aft =3 @ yam
wifta, dwmfora i W& wER 7 aiiga
{

IR FFaAl § | W@ HFAl & FIS F

fafga =11

(1) ad (i) T (i)

(2) A (i) T (i)

(3) e (i) T (i

) (i), (i) T (i)

123. = % Q forl =g <ifae =@ A i ?

(1) O9El R 3T A
_{2)  IrefEs g

(@) < faux

(4) SUR ARR

124. T&F HH o Yoy, 'HHYH § @ o aM’ #@
5% HHIYH WK A h1 AfUHRT &1 HHA H
74 Y 9’ T 42,000 &1 TEYUR H FHA

Yftefera Sifea)
ok B
A7 T 2,000 ZWAgen
() % 2,500 b
() % 3,000
@4) % 3,500
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125. As per General Financial Rules, 2017 who hae | 125,y faeftn foemen®, 2017 % wpar R o

126.

127.

ACC-2023 E%I

been given full powers to make their own |
arrangements for procurement of goods and |
services, that are not available on GeM ? l

(1)
(2)
@)
(4)

Concerned Ministry / Department
Finance Ministry
Home Ministry

Commerce Ministry

If an accounting information is free from
errors, then which qualitative characteristic
is reflected ? B

.~

(1) Relevance |

) Comparabilgj'.‘;

(3) Reliability i

(4) Undersmndéﬁij;it)'

Under Section 146 of the Companies Act

2013, an auditor has a right to attend any

general meeting :

(1) by himself/Rerself or through his/her
authorised r-_épresental:ive

(2) by himself/t E_rself or through his/her
authorised reptesentatlve, who is not
qualified to EE_‘an auditor.

(3) by himself/ he:;self only.

(4) by hmuself/herself or through his/her
authorised representative, who is
qualified to be an auditor.

45

A A, Government o Market place (Ge)
ot ey off B v wrft meren A aeen w1l
wrer e fom o )

A1) wahr e faoam
(2) fradwem
(3) TESaEm
N4y fwer e
126. 7f2 Y3 Amiwa gern e 2 @ F3- 10t e
fadrren wfafafaa @t 22
(1) wrsfraa
(2) g
A3) fawagtam
(4) =T
127. 9t Afuf@s 2013, it ¥R 146 F ATER TH
Jihed i g8 AfYFR g fF ag g aw §
T'I':Iﬁ‘ﬂ?{@ﬁa?:
(1) @d 3uar 3 Wivga wfafafu & wmam
=
(2) @d a7 wiiuga whaffy, S siwes
H Arar | @A W, F A |
(3) Had @E & HMET J|
H4) T Age 7 Wifuga wfafafy, S siwes
it IrEdr TGl O, & W g |
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129.

e

Ay draws s Wl on Vinay for ¥ 600000 |
Vinay mulrh . Ajay endorses it to C hinta
in setthlement of @ 70000 51 2% isomint ared |
the balance in cash  The Wil e disbemw 2iredd
on due date. Caloulate the arount by whch |
A’H\ is 1o be debited inthe bbb e of € hinta I
|
(1) T w1400 |
(2) T 60,000 :
(3) T 6K,600 I
(4) 70,000 I
Depreciation is appearing in the “Trial

Balance’ of a firm. At the time of preparing
*Annual Accounts’, it should be shown in :

(1) Profit & Loss Account

(2) Profit & Loss Account or Balance Sheet
(3) Balance Sheet

(4) Profit & Loss Account and Balance

Sheet

130. Which of the following transaction will affect
the current ratio ?
(1) Debentures issued in consideration of
Machinery purchased
(2) Conversion of Debentures into Equity
shares
(3) Purchased goods on credit
(4) Goods sold for cash
-00o-
10}
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%22

- - - - sy € g €
gy % from ey v 3 N Tem ¥ $

iFmsr a1 0L ¥ ¥ o
et o 21 fefn o Bt s oy B

£

Y1 Piasf o o 51 nftey 21 w2 aref o5

Yrefyr if

(1) T AN
(2) T 40,000
(V) T 684600
(4) T 70,000

vF FH % ez § 71 fazom 70 T

=

AN :-_Flm-'{rﬁUH 7|
(), :z;'Fjﬂ"-l-‘ﬂﬁ A AT A T |
(3) S
4) ‘c’lIT‘{-’IﬁEIH?IﬂT?jHT{ CEE-{

=1 4§ @ FF-w T =1 FIE Fowena
H4T ?

(1) W0 %8 FE F Wawa H w9 =

)
i Frfma
J

(2): =ZRvT9El 1 GHAT AW § REdq

i ";1;[| .w'

{,
(3) YR A1
,et) ﬂmmaﬁﬁﬁ

<4 i,

) 'llr ||

-00o0-
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